

Name = Nadeem Jabal

ID = 7277

So assignment = differential equation

Submitted to: Shomila Mazhar

①

Cauchy - Euler ODE's

Q.No.1 $x^3 y''' + 2x^2 y'' + 2y = 10x + 10/x$ (1)

Sol.

Put $x = e^t$ then

$$\frac{dx}{dt} = e^t \Rightarrow dt/dx = e^{-t}$$

Now $dy/dx = dy/dt \cdot dt/dx = dy/dt \cdot e^{-t}$

or $y' = dy/dx = e^{-t} dy \therefore d/dt \rightarrow D$

Similarly

$$y'' = e^{-2t} [D(D-1)]y$$

$$y''' = e^{-3t} [D(D+1)(D-2)]y$$

Using this values in (1)

$$e^{3t} \cdot e^{-3t} [D(D+1)(D-2)]y + 2e^{2t} \cdot e^{-2t} [D(D-1)]y + 2y = 10e^t + 10e^{-t}$$

$$(D^3 - 3D^2 + 2D)y + (2D^2 - 2D)y + 2y = 10e^t + 10e^{-t}$$

$$D^3 y - D^2 y + 2y = 10e^t + 10e^{-t}$$

$$\frac{d^3 y}{dt^3} - \frac{d^2 y}{dt^2} + 2y = 10e^t + 10e^{-t} \quad (2)$$

(2)

the associated homogeneous equation of (1) is

$$\frac{d^2 y}{dt^2} - \frac{d^2 y}{dt^2} + \gamma y = 0$$

$$d/dt^2 = k^2, \quad d^3/dt^3 = k^3$$

~~$$k^3 y - k^2 y + \gamma y = 0$$~~

$$(k^3 y - k^2 y + \gamma y) = 0$$

$$(k^3 - k^2 + \gamma) y = 0$$

For non-trivial sol $y \neq 0$

$$k^3 - k^2 + \gamma = 0$$

Root are

$$k = -1, 1 + j$$

$$y_c(t) = A e^{-t} + (B \cos t + C \sin t) e^t$$

which is Complementary Solutions.

(3)

$$\text{Ques } x^2 y'' + 2xy' - 6y = 10x^2 = y(1) = 1 \quad y'(1) = -6$$

Sol let $x = e^t$ so that $\log x = t$
being Cauchy euler equation

$$[\Delta(\Delta-1) + 2\Delta - 6]y = 10e^{2t}$$

$$[\Delta^2 - \Delta + 2\Delta - 6]y = 10e^{2t}$$

$$[\Delta^2 + \Delta - 6]y = 10e^{2t} \quad \text{--- (1)}$$

the characteristic equation is

$$\Delta^2 + \Delta - 6 = 0$$

$$\Delta^2 + 3\Delta - 2\Delta - 6 = 0$$

$$(\Delta + 3)(\Delta - 2) = 0$$

$$\Delta = -3, -2$$

So its Complementary function

$$y_c = C.F = C_1 e^{-3t} + C_2 e^{-2t}$$

Now the particular integral is

$$y_p = P.I = \frac{1}{\Delta^2 + \Delta - 6} 10e^{2t}$$

$$= 10 \frac{1}{(\Delta)^2 + \Delta - 6} e^{2t} \Rightarrow 10 \frac{1}{0} e^{2t} \text{ (Case fail)}$$

$$= 10 \frac{t}{2\Delta + 1} e^{2t} \Rightarrow 10 \frac{t}{4+1} e^{2t}$$

$$= \frac{10}{5} t e^{2t} \Rightarrow 2t e^{2t}$$

(9)

Hence general equation

$$y = y_c + y_p$$

$$= C_1 e^{-3t} + C_2 e^{2t} + 2t e^{2t} \quad \therefore u = e^t$$

$$y = C_1 x^{-3} + C_2 x^2 + 2(\log x) x^2 \quad \text{--- (i)}$$

Now put $y(1) = 1$ i.e. $x=1$ $y=1$ in (i)

$$1 = C_1 + C_2 + 2 \cdot \log = C_1 + C_2 \quad \text{--- (ii)}$$

Now differentiate w.r.t. (i) w.r.t. x

$$y' = 3C_1 x^{-4} + 2C_2 x + 4x \log x + 2x$$

Now put $y'(1) = -6$ i.e. $x=1$ and $y' = -6$

$$-6 = -3C_1 + 2C_2 + 0 = -3C_1 + 2C_2 + 2 = -6$$

$$\Rightarrow -3C_1 + 2C_2 = -8 \Rightarrow \text{(iii)}$$

So multiplying (ii) by 2 and subtracting (iii) from

eq (iii)

$$2C_1 + 2C_2 = 2$$

$$-3C_1 + 2C_2 = -8$$

$$\hline 5C_1 = 10$$

$$\boxed{C_1 = 2} \quad \boxed{C_2 = -1}$$

Put the value of C_1, C_2 in eq (i)

$$y = 2x^{-3} - x^2 + 2 \log x (x^2)$$

(ii)

$$\boxed{y = \frac{2}{x^3} - x^2 + 2x^2 \log x}$$

(5)

~~Q4 = $x^5 y'' + 7xy' + 5y = x^5 y(0) = 2$ $y(1) = 2$~~

Sol let $x = e^t$ $t = \log x$ $\Delta = \frac{d}{dx}$

Now $xy' = \Delta y \Rightarrow x^2 y'' = \Delta(\Delta - 1)y$

then $(\Delta(\Delta - 1) + 7\Delta + 5)y = e^{5t}$

$(\Delta^2 - \Delta + 7\Delta + 5)y = e^{5t}$

$(\Delta^2 + 6\Delta + 5)y = e^{5t}$

Char eq is

$\Delta^2 + 6\Delta + 5 = 0$

$\Delta^2 + 5\Delta + \Delta + 5 = 0$

$\Delta = -5, -1$

Complementary equation is

C.F = $C_1 e^{-5t} + C_2 e^{-t}$

P integral

P.I = $\Delta^{-1/2} + 6\Delta + 5$

$s^{-1/2} + 6(s) + 5$

replacing Δ by s

$= \frac{1}{60} e^{5t}$

then $y = C_1 e^{-5t} + C_2 e^{-t} + \frac{1}{60} e^{5t}$

$y = C_1 x^{-5} + C_2 x^{-1} + \frac{1}{60} x^5$

$y' = -5C_1 x^{-6} - C_2 x^{-2} + \frac{1}{12} x^4$

$y(0) = 2$ $x=0 \Rightarrow y=2$

$2 = C_1 + C_2 + \frac{1}{60}$

$C_1 + C_2 = \frac{119}{60}$ — (A)

⑥

$$y'(1) = 2 \quad x=1 \quad y' = 2$$

$$2 = -5C_1 - C_2 + \frac{1}{12}$$

$$-5C_1 - C_2 = \frac{23}{12} \quad \text{--- (B)}$$

①+②

$$-4C_1 = \frac{234}{60} \Rightarrow C_1 = -\frac{117}{120}$$

now

$$y = -\frac{117}{120} x^5 + C_2 x^1 + \frac{1}{60} x^5$$

$$C_1 = -\frac{117}{120} \text{ put in } \textcircled{1} \quad -\frac{117}{120} + C_2 = \frac{119}{60}$$

$$C_2 = \frac{119}{60} + \frac{117}{120}$$

$$\frac{238}{120} + 117 = \frac{355}{120}$$

(7)

$$Q5 = (x+1)^2 y'' - 3(x+1)y' + 4y = x^2$$

sol

$$\text{let } x+1 = e^t \Rightarrow x = e^t - 1$$

$$\text{differentiate } (\log x+1) = t$$

$$\text{Also } (x+1)y' = Dy_1 \quad (d/dt = D \text{ and } D = d/dx)$$

~~x~~

$$(x+1)^2 y'' - D(D-1)y$$

$$\text{then eqn } \Rightarrow (D(D-1) - 3D + 4)y = (e^t - 1)^2$$

$$(D^2 - 4D + 4)y = e^{2t} - 2e^t + 1$$

$$\text{Character eq is } D^2 - 4D + 4 = 0$$

$$(D-2)^2 = 0$$

$$D = 2, 2$$

the Complementary function is

$$C.F = (C_1 + C_2 t) e^{2t}$$

Also particular integral is

$$P.I = \frac{1}{(D-2)^2} (e^{2t} - 2e^t + 1)$$

$$= \frac{1}{(D-2)^2} e^{2t} - 2 \frac{1}{(D-2)^2} e^t + \frac{1}{(D-2)^2} \quad \text{--- (2)}$$

Now

$$\frac{1}{(D-2)^2} e^{2t} = \frac{1}{2(D-2)} e^{2t} = \frac{1}{2} \frac{1}{D-2} e^{2t} \quad (\text{Case fail})$$

$$\frac{1}{(D-2)^2} e^{2t} = \frac{1}{2(D-2)} e^{2t} = \frac{t^2 e^{2t}}{2}$$

(2)

and $2 \frac{1}{(1-2)^2} e^x = 2 \frac{1}{(1-2)^2} e^x - 2e^x$

and $\frac{1}{(1-2)^2} e^{11} = \frac{1}{(1-2)^2} e^9 = 1/4$

eq (2) P.I = $1/2 t^2 e^{2t} - 2e^t + 1/4$

Hence complete solution is

$y = C.F + P.I$

$y = (C_1 + C_2) e^{2t} + 1/2 t^2 e^{2t} - 2e^t + 1/4$

~~Put value of t = x~~

$y = C_1 + C_2 \log(x+1) (x+1)^2 + 1/2 (\log(x+1))^2 (x+1)^2 - 2(x+1) + 1/4$

or

$y = C_1 + C_2 \log(x+1) (x+1)^2 + 1/2 (\log(x+1))^2 (x+1)^2 - 2x - 7/4$

$\boxed{1/2 (\log(x+1))^2 (x+1)^2 - 2x - 7/4}$

which is the required

(17)

Q.10.2 $x^3 y''' + 4x^2 y'' - 5xy' - 15y = x^4$

Sol: $x^3 y''' + 4x^2 y'' - 5xy' - 15y = x^4$ — (1)

Put $x = e^t$ then $\frac{dy}{dx} = y' = e^{-t} \frac{dy}{dt}$ $\therefore D = \frac{d}{dx}$

and $\frac{d^2y}{dx^2} = y'' = e^{-2t} (D(D-1))y$

Using these values $\log(x)$

$$D(D-1)y + 2 \cdot e^{-t} \cdot e^0 y - by = 10e^t$$

$$D^2y - Dy + 2Dy - by = 10e^{2t}$$

$$D^2y/dx^2 + dy/dx - by = 10e^{2t}$$

$$d^2y/dt^2 + dy/dt - by = 10e^{2t} \text{ — (2)}$$

Associated

$$d^2y/dt^2 + dy/dt - by = 0 \text{ — (3)}$$

d/dt in $d^2/dt^2 = m^2$ then (3)

$$m^2y + my - by = 0 \Rightarrow (m^2 + m - b)y = 0$$

roots are $m = -3, 2$

The Complementary Solution

$$y_c = C_1 e^{-3t} + C_2 e^{2t} \text{ — (4)}$$

Now find w, w_1, w_2

$$w = \begin{vmatrix} y_1 & y_2 \\ y_1' & y_2' \end{vmatrix} = \begin{vmatrix} e^{-3t} & e^{2t} \\ -3e^{-3t} & 2e^{2t} \end{vmatrix} = 2e^{-t} + 3e^{-t} = 5e^{-t}$$

$$\text{where } \begin{vmatrix} 0 & y_2 \\ f(t) & y_2' \end{vmatrix} = \begin{vmatrix} 0 & e^{2t} \\ 10e^{2t} & 2e^{2t} \end{vmatrix} = -10e^{4t}$$

(10)

$$w_2 \begin{vmatrix} y_1 & 0 \\ y_1 & f(t) \end{vmatrix} = \begin{vmatrix} e^{-3t} & 0 \\ -3e^{-3t} & 10e^{2t} \end{vmatrix} = 10e^{-t}$$

Now $U_1 = \int \frac{w_1}{w_2} dt = \int \frac{-10^4 t}{5e^{-t}} dt = -2 \int t e^{3t} dt = -\frac{2}{5} e^{3t}$